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INTERMEDIATE EXAMINATION – 2021 (ANNUAL) 

Model Set 

Home Science )

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- mÙkj nsrs le; ijh{kkFkhZ ;FkklaHko 'kCn lhek dk /;ku j[ksaA 

While answering the questions, candidate should adhere to the 

word limit as far as practicable. 

4- bl iz’u dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr 

le; fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidates to 

read the questions carefully. 

5- ;g iz’u i= nks [k.Mksa esa gS]  ,oa  

This question paper is divided into two sections : Section-A and 

Section-B. 

Time :- 3 Hours 15 minutes 
le; % 3 ?kaVs 15 feuV 

Full Marks - 70 
iw.kkZad & 70 

319 
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6- [k.M&v esa 70 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 35 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gS] vxj ijh{kkFkhZ 35 oLrqfu"B 

iz’uksa ls vf/kd iz’uksa dk mÙkj nsus ij izFke 35 mÙkjksa dk gh ewY;kadu fd;k 

tk;sxkA budk mÙkj nsus ds fy, miyC/k djk;s x;s OMR&mÙkj i=d esa fn;s 

x;s lgh oÙ̀k dks dkys@uhys ckWy isu ls HkjsaA fdlh Hkh izdkj ds 

OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk OMR ’khV esa iz;ksx djuk euk 

gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 70 objective type questions, out of which 

answer any 35 questions. Each question carries 1 mark. If more 

than 35 objective questions are answered, the first 35 answers will 

be evaluated. Darken the circle with black/blue ball pen against 

the correct option on OMR Answer Sheet; provided to you. Do not 

use Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise the 

result will be invalid. 

7- [k.M&c esa 20 y?kqmÙkjh; iz’u gSa] izR;sd iz’u ds fy, 2 vad fu/kkZfjr gS 

ftuesa ls fdUgha 10 iz’uksa ds mÙkj nsuk vfuok;Z gSA blds vfrfjDr  esa 

06 nh?kZ mÙkjh; iz’u Hkh fn, x, gSaA izR;sd iz’u ds fy, 05 vad fu/kkZfjr gSa 

ftuesa ls fdUgha 3 iz’uksa ds mÙkj nsuk vfuok;Z gSA  

In Section-B, there are 20 Short answer type questions. Each 

question carries 2 marks, out of which any 10 questions are to be 

answered. Apart from this, there are 6 Long answer type 
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questions. Each question carries 5 marks, out of which any 3 of 

them are to be answered.  

8- fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliance is strictly prohibited.

SECTION-A (Objective Type Questions)

iz'u la[;k 1 ls 70 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls 

flQZ ,d lgh gSA vius }kjk pqus x;s lgh fodYi dks OMR&’khV ij fpfUgr djsaA 

vkidks 35 iz’uksa ds mÙkj nsus gSaA ;fn ijh{kkFkhZ 35 ls vf/kd iz’uksa dk mÙkj nsrk gS] rks 

izFke 35 mÙkjksa dk gh tk¡p gksxkA      (35x1=35) 

Question Nos.- 1 to 70 have four options, out of which only one is 

correct. You have to mark your selected option on the OMR-Sheet.  Only 

35 questions are to be answered. If the candidate answers more than 35 

questions, the first 35 answers will be evaluated.   (35x1=35)  

1- buesa ls dkSu var%lzkoh xzafFk gS\ 

A- Fkk;jkW;M xzafFk    B- ih;w"k xzafFk 

C- lsDl xzafFk     D- mi;qZDr lHkh 

Which of these is an endocrine gland ? 

A. Thyroid gland    B. Pituitary gland  
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C. Sex gland     D. All the above 

2- buesa ls dkSu efgyk iztuu vax gS\ 

A- xHkkZ’k;     B- fMacokgh ufydk   

C- vaMk’k;     D- mi;qZDr lHkh 

Which of these is a female reproductive organ? 

A. Uterus     B. Fallopian Tube 

C. Ovary     D. All of these 

3- fdl gkeksZu dh deh ls ?ksa?kk jksx gksrk gS \   

A- Fkk;jksfDlu     B- ,LVªkstu   

C- iSjkFkkeksZu     D- izkstsLVsjksu 

Goitre is caused due to deficiency of which hormone? 

A. Thyroxine     B. Estrogen 

C. Parathormone    D. Progesterone 

4- ekfld /keZ dh 'kq:vkr yM+fd;ksa esa lkekU;r% fdl vk;q esa gksrh gS\ 

A- 5&6 o"kZ     B- 6&7 o"kZ   

C- 8&9 o"kZ     D- 10&15 o"kZ 

At what age do girls usually start their menstruation? 

A. 5-6 years     B. 6-7 years  

C. 8-9 year     D. 10-15 years 
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5- ÅtkZ ds fdl :Ik ls iznw"k.k dh leL;k ugha gksrh gS\ 

A- ijek.kq ÅtkZ    B- jklk;fud ÅtkZ   

C- lkSj ÅtkZ     D- buesa ls dksbZ ugha 

Which form of energy does not cause pollution? 

A. Nuclear energy    B. Chemical energy 

C. Solar energy    D. None of these 

6- LoPN Hkkjr vfHk;ku fdl izfl) O;fDrRo ds tUefnu ij 'kq: fd;k x;k Fkk\ 

A- ia0 tokgj yky usg:   B- cYyHk HkkbZ iVsy 

C- egkRek xka/kh    D- Hkxr flag 

Swachh Bharat Abhiyan was started on the birdhday of which 

famous personality? 

A. Pandit Jawahar Lal Nehru  B. Ballabh Bhai Patel 

C. Mahatma Gandhi   D. Bhagat Singh 

7- xzkeh.k {ks= esa iznw"k.k dk D;k dkj.k gSa\ 

A- [kqys esa 'kkSp djuk    B- [kqys {ks= esas diM+s /kksuk  

C- ouksa dh dVkbZ    D- mi;qZDr lHkh 

What is the cause of pollution in rural areas? 

A. Open defecation  B. Washing clothes in open area 

C. Deforestation   D. All of these 
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8- miHkksDrk laj{k.k vf/kfu;e ds varxZr miHkksDrkvksa ds vf/kdkj D;k gS\ 

A- p;u dk vf/kdkj    B- lqj{kk dk vf/kdkj  

C- miHkksDrk f’k{kk dk vf/kdkj  D- buesa ls lHkh 

What are the rights of consumers under Consumer Protection Act? 

A. Right to choose    B. Right to protection 

C. Right to consumer education D. All of these 

9- buesa ls dkSu vkgkj vk;kstu dks izHkkfor djus okyk rÙo gS\ 

A- ifjokj dk vkdkj    B- ekSle 

C- Hkkstu laca/kh vknrsa    D- mi;qZDr lHkh 

Which of the following factor influences meal planning? 

A. Size of the family    B. Weather 

C. Food related habits   D. All of the above 

10- Xkk¡o esa mfpr LoPNrk cuk;s j[kuk fdldh ftEesnkjh gS\ 

A- xk¡o ds yksx    B- xzke iapk;r  

C- LokLF; dehZ    D- mi;qZDr lHkh 

Whose responsibility is it to maintain proper sanitation in the 

village? 

A. Village people    B. Village Panchayat 

C. Health worker    D. All of these 



7 
 

11- cPpksa dks fdl mez esa iwjd vkgkj fn;k tkrk gS \ 

A- 6 ekg esa      B- 8 ekg esa  

C- 3 ekg esa      D- 9 ekg esa 

At what age are children given supplementary food? 

A. 6 months     B. 8 months 

C. 3 months     D. 9 months 

12- izloksijkar vof/k fdlds fy, uktqd gksrh gS\ 

A- ekrk ds fy,    B- cPpk ds fy, 

C- nksuksa ds fy,    D- fdlh ds fy, Hkh ugha 

Postnatal period is critical for whom? 

A. Mother     B. Baby 

C. Both the above    D. None of the above 

13- Ekk¡ ds Lru ls fudyus okyk igyk nw/k D;k dgykrk gS \ 

A- dksyksLVªe     B- foVkfeu 

C- izksVhu     D- dSfYl;e 

What is the first milk that comes out of the mother’s breast called? 

A. Colostrum    B. Vitamin 

C. Protein     D. Calcium 

14- buesa ls dkSu cpr djus dk dkj.k gS \ 
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A- vkikrdkyhu vko’;drk   B- lsokfuof̀r 

C- egaxh [kjhnnkjh    D- mi;qZDr lHkh 

Which of these is a reason for saving? 

A. Emergency requirement  B. Retirement 

C. Expensive purchasing  D. All of these 

15- Lkk/kuksa ls vf/kd ykHk izkIr djus ds fy, D;k vko’;d gS\ 

A. lk/kuksa dks mi;ksx esa ykuk  B- lk/kuksa dk mfpr izca/ku 

C- lk/kuksa dks lafpr djuk   D- O;; djuk 

What is needed to get more benefit from the resources ? 

A. To use the resources    

B. Proper management of resources 

C. To accumulate resources 

D. To spend resources 

16- buesa ls dkSu lh ;kstuk Hkkjro"kZ ds Mkd?kj ls gh lapkfyr gksrh gS\ 

A- jk"Vªh; cpr i= dh fcØh   B- fdlku fodkl i= dh fcØh 

C- jk’ku dh fcØh    D- A ,oa B nksuksa 

Which of these schemes operate from the post office of India? 

A. Sale of National Savings Certificate 

B. Sale of Kisan Vikas Patra 
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C. Sale of ration 

D. A & B both 

17- buesa ls dkSu ikfjokfjd vk; c<+kus dk lk/ku gS\ 

A- ctV cukdj    B- /ku dk mfpr fofu;ksx 

C- le; rFkk Je cpkus okys miØe D- buesa lHkhA 

Which of the following is a means of increasing family income? 

A. Preparing budget    

B. Proper appropriation of money 

C. Time and labour saving ventures 

D. All of these 

18- okuLifrd nkx&/kCcks dks fdl ek/;e ls gVk;k tkrk gS\ 

A- cksjsDl     B- veksfu;k 

C- lksMk      D- buesa ls lHkh 

By what means are vegetative stains removed? 

A. Borax     B. Ammonia 

C. Washing soda    D. All of these 

19- feykoV gks ldrh gS  

A- tku&cw>dj     B- vutkus esa 
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C- nksuksa ds }kjk    D- buesa ls dksbZ ugha 

Adulteration may be  

A. Intentional    B. Unintentional 

C. Both of the above   D. None of the above 

20- buesa ls dkSu lwrh oL= dh fo’ks"krk gS\ 

A- fVdkÅ@etcwr    B- vkjkenk;d 

C- eqyk;e     D- buesa ls lHkh 

Which of these is a characteristic of cotton clothes? 

A. Durability     B. Comfortable 

C. Soft      D. All the above 

21- dkSu lh js[kk yackbZ dks n’kkZrh gS \ 

A- [kM+h js[kk     B- {kSfrt js[kk 

C- oØ js[kk     D- frjNh js[kk 

Which line represents the length?   

A. Vertical line    B. Horizontal line 

C. Curved line    D. Slant line 

22- buesa ls dkSu ,d izkd`frd rarq ugha gS\ 

A- uk;ykWu     B- Åu 

C- flYd     D- lwrh 
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Which of these is not a natural fibre ? 

A. Nylon     B. Wool 

C. Silk      D. Cotton 

23- gekjs 'kjhj esa jksxk.kq dSls izos’k djrs gSa \ 

A- gok }kjk     B- ikuh }kjk 

C- A vkSj B nksuksa    D- buesa ls dksbZ ugha 

How do germs enter our body ? 

A. Through air    B. Through water 

C. Both A and B    D. None of these 

24- vks0 vkj0 ,l0 ?kksy ds vHkko esa Mk;fj;k ihfM+r cPpksa dks D;k fiykuk pkfg,\ 

A- ued dk ?kksy    B- nw/k 

C- 'kjcr     D- ued&phuh dk ?kksy 

What should children with diarrhea be fed in the absence of ORS 

solution? 

A. Salt solution    B. Milk 

C. Squash     D. Salt-sugar solution 

25- dkSu lk ifj/kku NksVs ,oa eksVs O;fDr ds fy, mi;qDr ugha gksrk gS \ 

A- NksVh fizaV okys oL=   B- cM+h fizaV okys oL= 

C- NksVs rFkk cM+s fizaV okys oL=  D- lQsn oL= 
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Which garment is not suitable for a short and fat person? 

A. Small printed garment   

B. large printed garment 

C. small and large printed garment     

D. White garment 

26- [kkn~; inkFkksZa dks fdrus lewgksa esa foHkkftr fd;k tk ldrk gS\ 

A- 2       B- 3 

C- 5      D- 8  

Into how many groups can food items be divided?  

A- 2       B- 3 

C- 5      D- 8  

27- buesa ls dkSu cqfu;knh t:jrksa dh vk/kqfud lwph esa 'kkfey gS\ 

A- vkokl     B- f’k{kk 

C- Hkkstu     D- diM+k 

Which of the following is included in the modern list of basic 

needs? 

A. House     B. Education 

C. Food     D. Clothing 

28- fdl js’ks dk mi;ksx etcwr jfLl;k¡ cukus ds fy, fd;k tkrk gS\ 
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A. lwrh       B- js’ke 

C- js;kWu      D- ukW;ykWu 

Which fibre is used in making strong ropes? 

A. Cotton     B. Silk 

C. Rayon     D. Nylon 

29- buesa ls dkSu 'khr@BaMk jax gS\ 

A- yky      B- cSaxuh 

C- gjk      D- lQsn 

Which of these is a cool colour ? 

A. Red      B. Purple 

C. Green     D. White 

30- LoPNrk ds fdl dk;Z esa ty dh vf/kd vko’;drk ugha gksrh gS\ 

A- ugkus esa     B- diM+k /kksus esa 

C- cÙkZu /kksus esa    D- cz’k djus esa 

Which work of sanitation does not require much water? 

A. Bathing     B. Cleaning of clothes 

C. Washing utensils    D. Brushing 

31- jsfMesV oL= [kjhnus le; fdu ckrksa ij /;ku nsuk pkfg,\ 

A- diM+s dh xq.koÙkk    B- mís’;@iz;kstu 
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C- ewY;      D- mi;qZDr lHkh 

What points should be kept in mind while buying readymade 

garments? 

A. Quality of clothes   B. Purpose 

C. Price      D. All of these 

32- oL= gekjs 'kjhj dh j{kk djrs gSa & 

A- lnhZ ls     B- xehZ ls 

C- o"kkZ ls     D- mijksDr lHkh ls 

Clothes protect our body from ……… 

A. Cold     B. Heat  

C. Rain     D. All of these 

33- ,d xzke dkcksZgkbMªsV ls fdruh dSyksjh ÅtkZ fudyrh gS\ 

A- 2 dSyksjh      B- 3 dSyksjh 

C- 4 dSyksjh     D- 7 dSyksjh 

How much calories of energy is released from 1 gram of 

carbohydrate? 

A. 2 Cal.     B. 3 Cal. 

C. 4 Cal.     D. 7 Cal. 

34- fo'o miHkksDrk fnol dc euk;k tkrk gS\ 
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A- 15 tuojh     B- 15 Qjojh 

C- 15 ekpZ     D- 15 vizSy 

When is World Consumer Day celebrated ? 

A. 15 January    B. 15 February 

C. 15 March     D. 15 April 

35- oL= D;ksa vko’;d gS \ 

A- lkekftd izfr"Bk gsrq   B- 'kjhj dks <+dus gsrq  

C- 'kjhj dks xeZ j[kus gsrq   D- buesa ls lHkh 

Why is clothing essential?  

A. For social prestige   B. To cover the body 

C. To keep the body warm  D. All the above 

36- Hkkstu ekuo thou dh ----------- vko;drk gSA 

A- izkFkfed      B- f}rh;d    

C- r`rh;d     D- buesa ls dksbZ ugha 

Food is the ………… need of human life. 

A. Primary     B. Secondary  

C. Tertiary     D. None of these 

37- buesa ls dkSu lqj{kkRed iks"kd rÙo gS\ 

A- izksVhu     B- dkcksZgkbMªsV 
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C- olk      D- foVkfeu ,oa [kfut yo.k 

Which of these is a protective nutrient ? 

A. Protein     B. Carbohydrate 

C. Fat      D. Vitamins & Minerals 

38- buesa ls dkSu Hkkstu idkus dk rjhdk ugha gS\ 

A- csfdax     B- ryuk 

C- dkVuk     D- mckyuk 

Which of these is a not a method of cooking? 

A. Baking     B. Frying 

C. Chopping     D. Boiling 

39- fuEufyf[kr esa ls fdldk mi;ksx [kk| laj{kd ds :Ik esa ugha fd;k tk ldrk 

gS\ 

A- lksfM;e csatks,V    B- csatksbd vEy 

C- ,lsfVd vEy    D- lY¶;wfjd vEy 

Which of the following can not be used as a food preservative? 

A. Sodium Benzoate   B. Benzoic acid 

C. Acetic acid    D. Sulphuric acid 

40- ty dh deh ls gksrk gS & 

A- jDrkYirk      B- iqutZyhdj.k 
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C- futZyhdj.k     D- buesa ls dksbZ ugha 

……………. Is caused due to water deficiency. 

A. Anemia     B. Rehydration 

C. Dehydration    D. None of these 

41- buesa ls dkSu ok;q iznw"k.k dk dkj.k gS\ 

A- okguksa ls fudyus okyk /kq¡vk  B- ykmMLihdj 

C- ;kr;kr /ofu    D- buesa ls dksbZ ugha 

Which of these is the cause of air pollution? 

A. Smoke emanating from vehicles B. Loud speaker 

C. Traffic noise    D. None of these 

42- buesa ls dkSu HkksT; inkFkksZa ls lacaf/kr ekud fpà gSa\ 

A. vkbZ0 ,l0 vkbZ0 ekdZ   B- ,xekdZ 

C- oqyekdZ     D- gkWyekdZ 

Which of the following is a standard symbol of food items? 

A. ISI mark     B. Agmark  

C. Woolmark     D. Hallmark 

43- dherh oL=ksa dks & 

A. MªkbZDyhu djuk pkfg,   B- lkcqu ls /kksuk pkfg, 

C- LVkpZ yxkuk pkfg,   D- fMVtsZaV ls /kksuk pkfg,  
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Costly clothes should be - 

A. Dry cleaned    B. Washed with soap  

C. Starched     D. Washed with detergent 

44- N% ekg ds cPpksa dks dSlk vkgkj nsuk pkfg,\ 

A. v)Z&rjy vkgkj    B- rjy vkgkj 

C- Bksl vkgkj     D- buesa ls lHkh 

Which type of diet should be given to a six month old child? 

A. Semi liquid diet    B. Liquid diet  

C. Solid diet     D. All the above 

45- 'kjhj esa izeq[k var%lzkoh xzafFk;ksa dh la[;k gS & 

A. 6      B- 7 

C- 8      D- 10 

The number of major endocrine gland in a human body is - 

A. 6      B- 7 

C- 8      D- 10 

46- vkgkj vk;kstu vR;Ur egRoiw.kZ gS & 

A. xHkZorh L=h ds fy,   B- /kk=h ds fy, 

C- cPpksa ds fy,    D- buesa ls lHkh ds fy, 

Meal planning is very important for - 
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A. A pregnant woman   B. A lactating mother  

C. Children     D. All of these 

47- buesa ls dkSu lUrqfyr vkgkj dk iks"kd rÙo gSa\ 

A. dkcksZgkbMªsV     B- izksVhu 

C- foVkfeu     D- mi;qZDr lHkh 

Which of these is a nutrient of balanced diet? 

A. Carbohydrate    B. Protein  

C. Vitamin     D. All of these 

48- i;kZoj.k j{kk ds fy, D;k vko’;d gS \ 

A. isM+ yxkuk     B- ÅtkZ ds oSdfYid lzksr [kkstuk 

C- ufn;ksa dks lkQ j[kuk   D- buesa ls lHkh 

What is required to protect environment ?  

A. Planting trees     

B. Finding an alternative source of energy  

C. Keeping rivers clean        

D. All of these 

49- ty dks folaØfer ds fy, D;k iz;ksx djrs gSa \ 

A. phuh      B- Dyksfju 
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C- fQukby     D- dkcZu MkbvkWDlkbM 

What do we use to disinfect water ? 

A. Sugar     B. Chlorine  

C. Phenyl     D. Carbon dioxide 

50- fuEu esa ls dkSu lgh ugha gS \ 

A. IykfLVd ikuh esa ?kqyu’khy gksrk gS  

B- ty ikpu esa enn djrk gS 

C- futZyhdj.k ?kkrd gks ldrk gS   

D- ty dh izkfIr Hkkstu ls Hkh gksrh gS 

Which of the following is incorrect ? 

A. Plastic is soluble in water   

B. Water helps in digestion  

C. Dehydration can be fatal   

D. Water is also obtained from food  

51- iks"kd rÙoksa dks cuk;s j[kus ds fy, Hkkstu idkus dh loksZÙke fof/k dkSu gS\ 

A. ryuk     B- Hkki ls idkuk 

C- csfdax     D- fxzfyax 

Which cooking method is the best to retain nutrients? 
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A. Frying      B. Steaming  

C. Baking     D. Grilling 

52- buesa ls dkSu ukWu cSafdx iz.kkyh ds varxZr vkrk gS\ 

A. ;wfuV VªLV vkWQ bafM;k   B- Hkkjrh; thou chek fuxe 

C- tujy bU’;ksjsal vkWQ bafM;k  D- mi;qZDr lHkh 

Which of the following comes under non banking system - 

A. Unit Trust of India    

B. Life Insurance Corporation of India.  

C. General Insurance of India 

D. All of these 

53- dkSu lh chekjh efD[k;ksa }kjk QSyrh gS\ 

A. pspd      B- gStk 

C- VkbQkbM     D- eysfj;k 

Which disease is spread by flies? 

A. Chicken pox    B. Cholera  

C. Typhoid     D. Malaria 

54- fd’kksjkoLFkk esa ekfld /keZ fdldk ladsr ugha gksrk gS \ 

A. ;kSu vaxksa dh ifjiDork dk  B- 'kknh djus ds mez dk 
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C- lUrkuksRifÙk dk    D- iztuu vaxksa ds fodkl dk 

Menstruation in adolescence is not a sign of - 

A. maturation of sexual organs  

B. age of marriage 

C. child birth      

D. development of reproductive organs 

55- vlhfer [kjhnnkjh dh tk ldrh gS & 

A. ØsfMV dkMZ }kjk    B- MsfcV dkMZ }kjk 

C- nksuksa ds }kjk    D- buesa ls dksbZ ugha 

Unlimited purchasing can be done through - 

A. Credit card    B. Debit card  

C. By both the cards   D. None of these 

56- fuEu esa ls dkSu ,d ikfjokfjd vk; gS & 

A. ekSfnzd vk;     B- okLrfod vk; 

C- vkfRed vk;    D- buesa ls lHkh 

Which of the following is a family income ? 

A. Money income    B. Real income  

C. Psychic income    D. All of these 
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57- dkSu lk dkjd oL=ksa ds pquko dks izHkkfor djrk gS \ 

A. tyok;q     B- 'kkjhfjd vkd`fr 

C- volj     D- buesa lHkh 

Which factor affects selection of clothes? 

A. Climate     B. Figure  

C. Occasion     D. All of these 

58- xHkkZoLFkk ds nkSjku fdl iks"kd rÙo dh vko’;drk c<+ tkrh gS\ 

A. izksVhu      B- dSfYl;e 

C- ykSg rÙo     D- buesa ls lHkh 

The requirement of which nutrient increases during pregnancy? 

A. Protein     B. Calcium  

C. Iron      D. All of these 

59- 'kjhj ls ty dk mRltZu buesa ls fdlds }kjk ugha gksrk gS \ 

A. 'olu     B- ugkuk 

C- ilhuk     D- 'kjhj dk oT;Z inkFkZ  

Water from the body is not excreted through which of the following? 

A. Respiration    B. Bathing  

C. Sweating     D. Waste products of the body 
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60- igys N% eghuksa esa] ,d Lruiku djkus okyh ek¡ ds nSfud Hkkstu esa fdruk 

vfrfjDr izksVhu fn;k tkuk pkfg,\ 

A. 10 xzke     B- 15 xzke 

C- 17 xzke     D- 25 xzke 

In the first six months, how much extra protein should be given in 

the daily food of a lactating mother? 

A. 10 gram     B. 15 gram  

C. 17 gram     D. 25 gram 

61- jsfÝtjsVj dk iz;ksx gksrk gS & 

A. iz’khru esa     B- fd.ou esa 

C- futZyhdj.k esa    D- buesa ls dksbZ ugha 

Refrigerator is used in 

A. Refrigeration    B. Fermentation 

C. Dehydration    D. None of these 

62- ik¡p ls ckjg o"kZ rd ds vk;q oxZ dks dgrs gSa & 

A. uotkr     B- ckY;koLFkk 

C- fd’kksjkoLFkk     D- izkS<+koLFkk 

Five to twelve years of age group is called - 

A. Neonatal    B. Childhood  

C. Adolescence    D. Adulthood 
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63- 'kjhj esa ty dh deh izHkkfor ugha djrh & 

A. Hkw[k dks      B- ykj dk de cuuk 

C- futZyhdj.k dh fLFkfr   D- :[kh Ropk 

Scarcity of water in human body does not affect - 

A. Hunger     B. Less production of saliva  

C. State of dehydration   D. Dry skin 

64- ,d miHkksDrk izHkkoiw.kZ [kjhnnkjh gsrq lgk;rk izkIr dj ldrk gS & 

A. foKkiu }kjk    B- futh vuqHko }kjk 

C- vU; O;fDr;ksa ds vuqHko }kjk  D- buesa ls lHkh 

A consumer can get aid for effective shopping through - 

A. Advertisements    B. Personal experience  

C. Experience of other people  D. All of these 

65- fuEu esa ls dkSu mtkZ dk lzksr ugha gS \ 

A. dkcksZgkbMªsV     B- [kfut yo.k 

C- olk      D- izksVhu 

Which of the following is not a source of energy ? 

A. Carbohydrate    B. Minerals  

C. Fat      D. Protein 

66- fuEu esa ls D;k lfCt;k¡ iznku ugha djrh gS\ 
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A. ty      B- ÅtkZ 

C- jQst     D- [kfut yo.k 

Which of the following is not given by vegetables? 

A. Water     B. Energy 

C. Roughage    D. Minerals 

67- vks0 vkj0 ,l0 dk mi;ksx ------------- ds mipkj ds fy;s fd;k tkrk gS & 

A. ihfy;k     B- vfrlkj 

C- vka= Toj ¼Vk;Qk;WM½   D- fueksfu;k 

ORS is used for treating - 

A. Jaundice     B. Diarrhoea  

C. Typhoid     D. Pneumonia 

68- fuEu esa ls dkSu xg̀ foKku dh ’kk[kk ugha gSa\ 

A. izlkj f’k{kk     B-  vkgkj foKku ¼Mk;VsfVDl½  

C- oL= ,oa ifj/kku    D- ekuo fodkl 

Which of the following is not a branch of Home Science? 

A. Extension Education   B. Dietetics  

C. Textile and Clothing   D. Human Development 

69- fuEu esa ls dkSu fdz;kRed fodkl ugh gSa\ 

A.  [kM+k gksuk     B- cksyuk 
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C- ?kqVuksa ds cy pyuk   D- idM+uk 

Which of these is not a motor development? 

A. Standing     B. Speaking  

C. Crawling     D. Catching 

70- fuEu esa ls dkSu cPps dk ikfjokfjd lekthdj.k dk ?kVd ugha gSa\ 

A. cPps dk tUedze    B- ekrk&firk ls laca/k 

C- nksLrksa ls laca/k    D- HkkbZ& cguksa ls laca/k 

Which of these is not a familial agency of child’s socialization? 

A. Birth order of the child  B. Relation with parents 

C. Relation with friends   D. Relation with siblings 

Section-B (Non-Objective Type Quesitons) 

Short Answer Type Questions

iz’u la[;k 1 ls 20 rd y?kq mÙkjh; gSaA buesa ls fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 2 vad fu/kkZfjr gSA vius mÙkj yxHkx 40&50 'kCnks esa nsaA   (10x2=20) 

Question no. 1 to 20 are Short answer type. Answer any 10 questions. Each 

question carries 2 marks. Answer your questions in about 40-50 words.  

(10x2=20) 
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fuEufyf[kr dh O;k[;k djsa% & 

Explain the following - 

1- Tkhok.kq           2 

Bacteria 

2- IkzTkuu vax          2 

Reproductive organs 

3- /ofu iznw"k.k          2 

Noise pollution 

4- ’kqdzk.kq           2 

Sperm 

5- fMtkbu           2 

Design 

6- ekuo fufeZr js’ks         2 

Man made fibers 

7- izR;{k vk;          2 

Direct income 

8- vadqjhdj.k          2 

Germination 

9- Hkkstu lanw"k.k          2 

Food spoilage 

10- dqiks"k.k           2 
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Malnutrition 

11- laØe.k           2 

Infection 

12- LFkkbZ nk¡r          2 

Permanent teeth 

13- iwjd vkgkj          2 

Supplementary food 

14- fo’o LokLF; laxBu         2 

World Health Organisation 

15- Lruiku           2 

Breast feeding 

16- psd cqd           2 

Cheque book 

17- miHkksDrk laj{k.k         2 

Consumer protection  

18- e`nk iznw"k.k          2 

Soil pollution 

19- d`f=e ;k mikftZr jks/k {kerk        2 

Artificial immunity 

20- ØsfMV dkMZ          2 

Credit Card 
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Long Answer Type Questions

iz’u la[;k 21 ls 26 rd nh?kZ mÙkjh; iz’u gSaA bl dksfV ds izR;sd iz’u ds fy, 5 vad 

fu/kkZfjr gSaA fdUgha 3 iz’uksa ds mÙkj nsA vius iz’uksa ds mÙkj yxHkx 80 ls 100 'kCnksa esa nsaA

           (3x5=15) 

Question no. 21 to 26 are Long answer type questions. Each question 

carries 5 marks. Answer any 3 questions. Answer your questions in about 80 

to 100 words.         (3x5=15) 

21- Hkkjr esa miHkksDrk laj{k.k vf/kfu;e dc ykxw gqvk\ miHkksDrk ds vf/kdkj D;k 

gSa\           5 

When did consumer Protection Act come into force in India? What 

are the rights of consumers ? 

22- ekuo 'kjhj esa gkeksZu dh D;k Hkwfedk gS\      5 

What role  does hormones play in the human body? 

23- nkx@/kCck D;k gS\ nkx&/kCck NqM+kus dh fof/k;ksa dk o.kZu djsA   5 

What is stain? What are the methods of stain removal? 

24- feykoV ds gkfudkjd izHkko D;k gS\ o.kZu djsaA     5 

What are the harmful effects of adulteration? Describe.  5 

25- [kkn~; LoPNrk ls vki D;k le>rs gSa\ [kkn~; LoPNrk izHkkfor djus okys 

dkjd dkSu gSa\          5  
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What do you understand by food hygiene? What are the factors 

that affect food hygiene? 

26- ?kj esa izlo djkus ds ykHk ,oa gkfu dk o.kZu djsA    5 

Describe the advantage and disadvantage of delivery at home. 


